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PROFESSIONAL EXAMINATION BOARD

Group 2 Lab Technician 2015

AGENGG 18th Oct 2015, 09:00 AM

Topic:- General Knowledge
1))

Question Stimulus :-

Choose the correct option with respect to New Bank Paper Unit.

q%ﬁwaﬁz#ﬁwﬁaﬁwgﬁv

Established in SPMCIL, Hoshangabad, Madhya Pradesh./ SPMCIL, ﬁ?ﬁlﬁﬁ HEQYSA A TS
g3
-]

e Can issue notes of 1 or 2 rupees only/ A% v g 8 TUX & Ale UG FT FhdT %
e Can issue notes of 1 rupee onlym TF 5. FT A1 Y&TT HI hdl ¢

Neither Option (1) and Option (2)/ =TT & faFeq 1 3R 2 W& &

Correct Answer :-Established in SPMCIL, Hoshangabad, Madhya Pradesh./ SPMCIL, giRTaTg
HEIUSA H T ganm

2)
Question Stimulus :-

Which oil company has recently commissioned 54 MW wind energy projects between Gujarat and
Madhya Pradesh?

gl 81 3 fore QT Faell O 54 MW Taet St &7 Sisiere, Jorrd 3 7y woer & dfier yanfore fman
g2

Oil India Limited/ 3s< 33971 fafAes

ONGC/ 31 wat. SfY. #Y

SAIL/ el

Reliance/ Remad

Correct Answer :-Oil India Limited/ 3Tgel 3%7!“ fafaes
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3)
Question Stimulus :-

Hindi poet Gopaldas Neeraj on 24 March 2015 was awarded with?

fowdY 13 MTererd et I 24 AR 2015 F FFE TTEFR F WERRA fHar e

National Kavi Pradeep Samman./ A2l &3 YT TFATT

National Literature Award./ si2lsTel foredaY 3ra12

National Hindi Award./ 2Tl f@edY 3ra1s

Best bookseller award. / §¥€ W 3qrs

Correct Answer :-National Kavi Pradeep Samman./ S12Tel &a 91T FATT

4)
Question Stimulus :-

Seventh session of the Congress was held at:
1A &1 Gidal AT« smafaa BFar =

Gwalior,1891/ 7a1faIT, 1891

Nagpur, 1891/ /TITYY, 1891

Bombay, 1891/ HF<s, 1891

Bengal, 1891/ §3TTeT, 1891

Correct Answer :-Nagpur, 1891/ #T9TqY, 1891

3)

Question Stimulus :-

Mark the correct statement about Holkar Dynasty:

A. Its capital was Gwalior.

B. It was established by Madhav Rao Holkar.

http://localhost:61852/
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C. In 1948, Tukoji Holkar demanded for separate country.

S Toay & vy # wd wo g

A. T TereTedt Tarfara oY |

B. I§ ATYERIT §IdH GaRT FoiT5 5 |

C. 1948, H THISARTE IeThT o Ierar 2 Y AT Y Y|

Aand B/ A 3T B

A only/ T A

B only/ &ad B

A,Band C/ A, B3 C

Correct Answer :-A and B/ A 3ﬁ'{' B

6)
Question Stimulus :-

The Planning Commission in Madhya Pradesh was established in which year?

HEY YU F JSTAT AN T TS5+ 5 a8 T 14w 412

1972

1980

1960

2000

Correct Answer :-1972
7)

Question Stimulus :-

What type of climate does Madhya Pradesh have?
HEF ol Y STerary F4 g2

e Monsoon type climate/ HTeI{eT STeldTg
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* Dry climate/ S STeldTq
e Hot and Dry climate/ e 3R YT STeldrd
e Cool climate/ &3 STelaTy

Correct Answer :-Monsoon type climate/ HTeT¥{eT STeldT]

8)
Question Stimulus :-

Who is the Chief Secretary of Madhya Pradesh?

HEY Y& & HEY g Fia 82
Shiv Raj Singh Chouhan/ RIarer &% dere

Antony J. C. Disa/ Teelsit ot €Y. f3ar

Satya Dev Katare/ §cd¢d HeR

Karim Dad Khan/ &3 <I§ 9T

Correct Answer :-Antony J. C. Disa/ Teelsil ot. . 34T

9)
Question Stimulus :-
CANCELLED

Mark the appropriate reason for which the Kishore Kumar Award is given:

fareiR FAR QEFR e FRoT R srar g:

For dancing/ sJcd & faw

For acting/ 31f®=1q & faw

For story, direction and music composition/ EI-E'F-f’l', A&era 3t Mg @ & faw

Option 1 and 2 are correct/fdFeq 1 3R 2 el %

Correct Answer :-Option 1 and 2 are correct/fA@meq 13X 2 '\qﬁ %
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10)
Question Stimulus :-

Mark the correct statement?

8 FuT & RAfrga F1?

e Madhya Pradesh legislative assembly has 1 seat reserved for Anglo - Indian/

T wowr Y faererqen 7 wwa-3REae & fav v die wiaa o

e First Director General of Police of Madhya Pradesh was Mr. Nandan Dubey/

HET YU & 94H Yfaw Agrfagers st de g9 I

e Central Armed Force Act has not been implemented in Madhya Pradesh/

FoAIT WA I IfATATH FAegweer 7 regafera @) fFrar aram|

o The first Chief Minister of Madhya Pradesh was K.C. Reddy/

HET o & TUH q&ar 71 &. @Y. 3 9

Correct Answer :-Madhya Pradesh legislative assembly has 1 seat reserved for Anglo - Indian/

HET g3 Y Rurarws # veal-$Rae & v o die giiaa 81

Topic:- General Maths
)

Question Stimulus :-

Due to an increase in the price of eggs by 30%, now 3 less eggs are available for Rs.9.10. The
present rate per egg is?

373t Y rere A 30 GFere Y i F FROT, 9 T 10 TN 7 clleT 33 FH UICd gt o 1T 7S
qAHAT PIATFT g1aN?

91 paise/ 91 ¥4&

70 paise/ 70 ¥&

48 paise/ 48 ¥

84 paise/ 84 4
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Correct Answer :-91 paise/ 91 4
2)
Question Stimulus :-

44% of the students in the class are females and the number of male students is 42. Find the total
number of students in the class.

U FHET A 44 gferera Rt asfear @ va 42 asF &) Fan & Fo RgnfEat i g wa fifaw)
e 70
e 65
e 75
e 45
Correct Answer :-75
3)
Question Stimulus :-

Raju started a business by investing Rs.36000. After 4 months Kalu joined him with some
investment. At the end of the year, the total profit was divided between them in the ratio of 9:7.
Find the capital that was invested by Kalu.

TS 36000 T { T STAHTT TRFH FIAT ¢ 14 AL 916 HTe] FS AN Wi 3qF WY I AT g1 a9
& 37T A TS Y AT A 9:7 F He[UTT # qle AQ | FIe Y A1 AT F|

42000

36000

56000

None of these/ 3T & FIS el

Correct Answer :-42000

4)
Question Stimulus :-

In what ratio should water be mixed with wine that costs Rs. 60 per litre so that after selling the
resultant mixture at Rs.50 per litre, the profit will be 25%?

forer 1T F aTelt Y 60 T T WeT Y 2" F A1y Arermar sy aifF ot Y 50 § 9fq e F
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9 9T 25 iere &1 «Ter g
e 1:2
e 2:3
e 3:4
e 4:5
Correct Answer :-1: 2
5)
Question Stimulus :-

The average age of all the 16 professors of L.K. University is 52 years. After four years what will be
the average age of all the 16 professorsif there is no retirement or recruitment?

ud. %. feafaeare & 16 yrearaet Y 3itwe 3y 52 9€ ¥ AR T gt 397 16 WTEATIHI A
sitarer 3y T gl Al 1§ ¢ T a1 dafafya wdt g &2

e 68 years.

58 years.

56 years.

None of these/ SFF# a El-flé' A8

Correct Answer :-56 years.

6)
Question Stimulus :-

The speed of Karan is 40 kmph and the speed of Arjun is 60 kmph. What is the ratio of time taken
by each to cover the same distance?

e T a1 40 el gfey wrer @ wa arsier i a1fer 60 el wiq wer &1 woer gt g Fa A aaAr a1
3 HHY T I]ITd FT g2

e Insufficient data/ 31']%»? yqTed S8

http://localhost:61852/ 7182
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Correct Answer :-3 : 2
7)
Question Stimulus :-

A is twice as good as workman as B and therefore able to finish a piece of work in 30 days less than
B. In how many days can they complete the whole work; working together?

A, B ¥ Q[T 95 AR § 3R va F19 Y 7 A B @ 30 et 77 wow e 81 IR 3 A v w1y
FTH HL dY 3 FTH F FI F fHdsr & e

20 days / 20 fe=T

40 days / 40 T

60 days / 60 f&sT

80 days / 80 =T

Correct Answer :-20 days / 20 f&=T
8)
Question Stimulus :-

By using digits 1 to 9 how many 4 digit numbers can be formed which has 5 as a unit digit?
Repetition of digits is are not allowed.

1#9W$wﬂmm§@m4ﬁﬁ#mﬁmmm%mmmw
5§12 37! AT Tergfar fader 3

e 336
e 1400

e 504

e None of these/ 398 ¥ FI$ AL
Correct Answer :-336
9)
Question Stimulus :-

Find the probability that a leap year selected at random will contain 53 Sundays.

http://localhost:61852/ 8/82
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AT T A T 71 o7 a3 53 IR Bt Ay Werraa A F
5
7

3

1| e

=] | b

2
Correct Answer :-/
10)
Question Stimulus :-

If the 8 digit number 5668X25Y is divisible by 48. Find the least value of X + Y.

I 8 3T Y HE&AT 5668X25Y I F 48 ¥ Fyenfara &, X + Y &7 ~goTa# AT A1 F

e 10

Correct Answer :-7
11)
Question Stimulus :-

Shantanu was given a task of adding a certain number of consecutive natural numbers starting
from 1. By mistake, he missed a number during addition. He obtained the sum as 800. Find the
number that he missed.

ITETe] 1 T A YT HId §U S AT TR 3ATeT FTell UTep foveh HEAT3HT T g1 7 1 feam
7| el & 3 NS FAI Uh HEIT FE SATell §,38 Fel AT 800 IToed §IHT| T g8 HEAT 1A
ST

e 15

http://localhost:61852/ 9/82
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o 20

o« 25

e 10
Correct Answer :-20
12)
Question Stimulus :-

Three bells toll at interval of 36 seconds, 40 seconds and 48 seconds respectively. They started
ringing together at particular time. They next toll together after?

T afeIT FHU: 36 HUS, 40 YHUES T 48 YHUS F AT A Iordl g1 3+81 T ARG 87T @
TS 1Y TATT YRFH fHAT| 3r9rel g w3 ufeat var @1y fhvdsr 9679 & 91 a919i)?

e 12 min.

e 6 min.

e 24 min.

e 18 min.
Correct Answer :-12 min.
13)
Question Stimulus :-

A two digit number is such that the product of its digits is 12. When 9 is added to the number, the
digits interchanges their places, find the number.

U &Y 3T Y HEAT & I FT TG 12 ¥l 51T HEAT 7 9 ST ATAT § Y S/ 3 39T €A1
95l ot 8, HEAT AT F
e 62
e 34
° 2
e 43
Correct Answer :-34
14)

Question Stimulus :-
http:/localhost:61852/ 10/82
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This question is followed by two statements A and B. Indicate your responses based on the given
choices.

Is x greater than y?

Statement A: x is twice of 10 more than z.

Statement B: y is twice of 10 less than z.

wqa;rﬁa’raw?rAsﬁTBfa'frgtr%lmqﬁmﬁmgﬁwa:mﬂwmﬁl

FATx, y A I3T8?

WA:X,Z*IOH@?@'E’I’JIHT%I

FATB : y, z % 10 FH 4 QAT

If a question can be answered using statement A alone but not by using statement B alone/

ITE T HT 3caT Fael FYT A F IUANT F AT AT §F W] FYT BF 3TANT { 78|

If a question can be answered using statement B alone but not by using statement A alone/

I 9 T Il Fadl HYA B & 3R F 1T 51§ e FUT A & 39I1T § M|

If the question can be answered using statement A and statement B together but not by using

either statement A or statement B alone/

AT T T 3k FUT A 3R FYT B & TF 1Y 34T F A1 51 7% R felt ot v ey

A IT B & 399197 & 7¢T|

If the question cannot be answered even by using statement A and statement B together/

I T2 FT 3ca gl FUAT A 3T B & T 1Y 39T F oY o f&am 51 9 |

Correct Answer :-If the question can be answered using statement A and statement B together but

not by using either statement A or statement B alone/ If& W2 FT 3caX YT A IR FITB F TH

| 3YAT & AT 1 | a3t felt oft v Ut A 91 B F 39T @ A

15)

Question Stimulus :-

http://localhost:61852/
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Salary (in thousands) of Deepak for the given period are shown in graph:-

30

S

10

2010 2011 2012 2013

By what percentage has Deepak’s salary decreased in 2013 over 2010?

fArafaf@a I & Y 3 o7 & Qus $1 31 1 AR (FIRHA) 1w aram §:-

30

R

10

2010 2011 2012 2013

aas &Y 3T 2010 i & 2013 H fhasr wfaerd & @ T$?
e 20%
e 25%
e 33.33%
e None of these /Eﬂﬁ' T FS T8
Correct Answer :-25%

Topic:- General Science

1)
Question Stimulus :-

What is the formula of Potash Alum?
qerRr ¥H FT BIHAT FAT 87

http://localhost:61852/
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* KAI(SO,),

o KAI(H,0),

e KAISO,

e None of these./ AR & HI$ it AEI
Correct Answer :-KAI(SO,),

2)
Question Stimulus :-

Soft rays can detect which of the following items?
Aire Wr/efider Aol e @ &l @ #7SY T qar &9 G &7

Contrabands/ #i=¢ids

Lead in bullets/ dg@& #T aitelt &r efis/diar
Narcotics/ ARHICFH

e Genuine coins from counterfeit coins/ 3T AFRT T @ RAFHT AT
Correct Answer :-Genuine coins from counterfeit coins/ 3@l RAFH @ RAFH

3)
Question Stimulus :-

When the fresh milk turns sour, what will be its pH , if it was 6 previously?
ATSIT G & WET 81 TR, 3WehT dIue &1 g1, AT gt 38t froer 6 412
e Lessthan6/6 ¥ &
e More than 6/6 & T&F
e Neutral (pH=7)/ de&g (v = 7)
e No change in pH/ FIva & #H1$ IRTdT g1
Correct Answer :-Less than 6/6 & &H
4)

http://localhost:61852/ 13/82
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Question Stimulus :-

Which gas is the supporter of combustion?
s W I sadT FT FHAT FA 272
e Carbon dioxide/ FTaeT STAHTFATSS
e Chloride/ FARSS
e Methane/ H1de
e None of these/ SH & El-ﬂé' oY a1gt
Correct Answer :-None of these/ 38 & :1$ off AE
5)

Question Stimulus :-

The mass number of nucleus is:
TfAF Y FTAT TE&AT B
¢ Always less than its atomic number/ 3% MMOTH &aT THUAT FH

e The sum of the number of protons and neutrons present in the nucleus/ s & Jﬂ\_:rl@ et 3R
el 1 HEdT

e Always more than the atomic weight/ 3d% foas TEar ¥ gaer s
e Afraction/ U 319r

Correct Answer :-The sum of the number of protons and neutrons present in the nucleus/ T # FﬁGl;E

Sreter M wqgter &1 W
6)
Question Stimulus :-

Magnetic, electrostatic and gravitational forces come under which category?
qahI, saFcIveied 3 Tocarwyor oo g Ao & saeta mar 82
e Contact forces/ H9& ol

e Non- contact forces/ IR-TIh oo

http://localhost:61852/ 14/82
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e Pushing forces/ T el ATSIT Tl
e Frictional forces/ YT §of
Correct Answer :-Non- contact forces/ R-g9F I

7)
Question Stimulus :-

In the night vision apparatus which type of waves are used?

Uiy e a9 & FE 9oR A a@ &1 EIATT gar 82
e Ultraviolet rays/ GXTdarsiT fahTot
e Infrared rays/ SPRS fHIOT
e X-rays/ TFH-Y
e Betarays/ Cir it Ty
Correct Answer :-Infrared rays/ S%RS fahTor

8)
Question Stimulus :-

A particle is moving freely. Then its?
U FUT FEAT T § GH @ 81 a9 3qh?
e Kinetic energy is equal to potential energy./ fasr Far Rufas 391 F gH@= 'e-"l?ﬁ %I
e Kinetic energy is less than zero./ afast Far AT ¥ A B’IFﬁ' %I
¢ Kinetic energy is greater than zero./ LIGE R AT ¥ e gidr %I
e Kinetic energy is zero./ afasr Far AT GG %I

Correct Answer :-Kinetic energy is greater than zero./ aIfdsl Fail AT o I¥F B 2
9)
Question Stimulus :-

While carrying current, a good conductor is the one which is?

http://localhost:61852/ 15/82



11/24/2015 localhost:61852

fIega-4RT F1 FATET B I, HTST ATAF FAT BT o7
* (A) Electrically neutral/ faa:g?r dc¥y
e (B) Electrically positively charged/ HHhRIcH® T & ﬁag?[ CIE ]
e (C) Electrically negatively charged/ THRIcH® T & ﬁa:g?-[ et
e Either (B) or (C)/ a1 (sft) & (&)

Correct Answer :-(A) Electrically neutral/ fagga deey

10)
Question Stimulus :-

An apparatus used for charging air with petrol vapours in an internal combustion engine is called?

AR EgoT ol A eI A>T & JIY gaT °Tof A & AU EAATT fFY A ared aF H F41
FEA o7

Carburettor/ FRERET
Callipers/ hfa®R

Chronometer/ PATHIET
Electrometer/ FAGCIHIET

Correct Answer :-Carburettor/ FREREI

11)
Question Stimulus :-

Mark the correct statement about vitamins:

RafAa & I & ¥d a9 ) [”AfTea a1

(a). These are organic compounds required in small quantities for optimal health.

A IFeTFe FWRLT & AT F7 AT F 3T FHEfas dAE

(b). It enhances the metabolism of proteins, carbohydrates and fats.

Ig N, Frafgsse T a0 F TG HT To1dT ¢l

http://localhost:61852/ 16/82
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(). Vitamins are required for growth in children, formation of hormones, blood cells, tissues and

bones.

fefas s=at # e, gefla, wa FNNFETE, Faa 3k Rl F Teq & Qv smaas g
(d). All Vitamins can be synthesised/produced by the human body.

wsft farfder A Ao iR qanr senfee / weaf¥a frar S wear 21

e abandc/ T, &t 3T &
e abcandd/ T, &, @ 3 N
e aonly/ $ad T
e acandd/ T, 3R 3
Correct Answer :-a,band ¢/ @, ot 3iiv &

12)
Question Stimulus :-

Which are not fat soluble vitamins?
A ¥ FleT w1 Fefda qwr & gaadea 7@ 372
e A/ T
e D/ &Y
e K/ &
e B/ &t
Correct Answer :-B/ &t

13)
Question Stimulus :-

Chromosomes contain
AT H FAT AT &2
e Protein only/ ad A

http://localhost:61852/
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e DNA and protein/ et 3t W=
e DNA, RNA and histone/ 3T, 3RTaT 3iv RE

« DNA, RNA, histone and non-histone proteins/ 3ITaT, 3IRTAT 3K fREAT 3k I e
N

Correct Answer :-DNA and protein/ ITaT 3R &=

14)
Question Stimulus :-

Heterocoelous centrum is a characteristic of?
geIforaw dea fhadhy Rdwar §2

e Amphibia/ TfPwfET

* Reptilia/ T{GT

o Birds/ gaft

e Mammalia/ Fa=asied
Correct Answer :-Birds/ g&ft

15)
Question Stimulus :-

Life span of red blood cells is?

AT TFd FIAFI3T T SHaeFTr rd=T axar &2

90-100 days/ 90-100 fe=1

100-120 days/ 100-120 fe=T

70-90 days/ 70-90 f&eT

120-180 days/ 120-180 &=t

Correct Answer :-100-120 days/ 100-120 &=

Topic:- General Hindi
)
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Question Stimulus :-
‘Tl T HIS 8-
o geel Y Wl g
o FHAd A HT AT
o gifasRE o g
o frearaarct A= g
Correct Answer :-&eld o9 HT T

2)

Question Stimulus :-
et # & frae 3 Ry 82
o Ulgel
. R
o daeg
o FRA
Correct Answer :-3dleg

3)

Question Stimulus :-
FAATSS SAFaAT T FHE FEaT gl
o HUSH
. frE
. g
e Bis
Correct Answer :-ffRg

4)

http://localhost:61852/
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Question Stimulus :-
TR e FT FHEE AT |
. fafa
e T
o 3T
o gdl
Correct Answer :-Sell

)

Question Stimulus :-
€RT Asq T AL giAw
o THIA
e I
o Bol
o
Correct Answer :-SelT

6)

Question Stimulus :-

ShoeT | FT 3SEIT &-

o JafiET
Correct Answer :-Gfesldhe

7)

http://localhost:61852/
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Question Stimulus :-

'Tede’ eeg HT HF B-

"ider #1 g7

Mg o 9

TE F [T
o FT IT

Correct Answer :-3¢ forT 9

8)

Question Stimulus :-

e srereter-Ras 3o & & F§ vF oA wd A -
o gU-FC
o JHTEH-qHTEY

Correct Answer :-J@-H°C

9)

Question Stimulus :-

HEICAT T AT -

Correct Answer :-HHURT

10)

http://localhost:61852/ 21/82
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Question Stimulus :-

Ao g A fFE IIT &1 v HAT =T #-

¥ d 4

. &
Correct Answer :-Se

11)
Question Stimulus :-
‘AT gH aR, dd a7 H T ar 7, H JeER 2-
e W
o IIUH
o JHSD
e WY

Correct Answer :-JH%

12)

Question Stimulus :-

farT & ARG IFT T 3EIT §-

A 3meTd F FEreHs7|

39 AT 1 AR A R 3R 92 & 3 o9 F Wy #IF FT saSIR FIAT @I

3 7 O a1 wAH 7 3w
o TTAT FAT FgaT I1E TET ¢

Correct Answer :-38a T &1 QA 78 fFar 3t a8 &F ik o & @1y #7F F1 Sa9)R FGT
TeTl
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13)

Question Stimulus :-

3961 AT Gl ¥ gHF 3o1 | aT H @I T W T AT HETaRT A 2
o @« a1
o T E AT
o @l & e F FHERT
e IEITG g I

Correct Answer :-f&e 3aT

14)

Question Stimulus :-
‘AT WA F& AT AeAT § F T K Fo UG ¢

o AT TEIATHF fAAvor

T ara GaeTH
o JTT IEF FATH

9T s dAH
Correct Answer :-3fa9d drAs HAAATH

15)
Question Stimulus :-
=g auiATer & T A FETT B-
e 13
e 11
e 16
e 12
Correct Answer :-11

http://localhost:61852/ 23/82



11/24/2015 localhost:61852

Topic:- General English
1))

Question Stimulus :-

DIRECTIONS: Choose the option that can be substituted for the given sentence.

A person who journeys to a sacred place for religious reasons.
e Traveller.
e Itinerant.
e Pilgrim.
e Voyager.
Correct Answer :-Pilgrim.
2)

Question Stimulus :-

DIRECTIONS: Choose the option that can be substituted for the given sentence.

A person walking rather than travelling in a vehicle.
e wanderlust
e Pedestrian.
e Toddler.
e Somnambulist.
Correct Answer :- Pedestrian.
3)
Question Stimulus :-
What will be the synonym of the word ‘disaster’?
e Disease.
e Calamity.
e Illness.
e Problem.

Correct Answer :-Calamity.

http://localhost:61852/
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4)
Question Stimulus :-
What will be the antonym of the word ‘peak’?

e Pinnacle.

e Acme.

e Nadir.

e Zenith.

Correct Answer :-Nadir.

5)

Question Stimulus :-

Choose the correct sentence out of the given sentences.

e My scissors is not sharp.

e Order for his transfer has been issued.

e My spectacles is very costly.

e A pair of spectacles has been bought by me.
Correct Answer :-A pair of spectacles has been bought by me.
6)

Question Stimulus :-

DIRECTIONS: In the following question, four alternatives are given for the Idiom/Phrase printed in
italics. Choose the alternative which best expresses the meaning of the Idiom/Phrase.

Susan’s break up was a blessing in disguise, because it gave her a lot of time to think about her
future life and take some important decisions.

e an important event.

e an auspicious occasion.

e a good and useful sign that seems bad or unlucky initially.
e something completely hidden.

Correct Answer :- a good and useful sign that seems bad or unlucky initially.
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7)
Question Stimulus :-

DIRECTIONS: In the following question, four alternatives are given for the Idiom/Phrase printed in
italics. Choose the alternative which best expresses the meaning of the Idiom/Phrase.

The subject of the movie has long been a bone of contention in the industry.
e point of rejection.
e criterion of selection.
e point of disagreement.
e cause of struggle.
Correct Answer :-point of disagreement.
8)
Question Stimulus :-

DIRECTIONS: In the following question four words are given. . Find the correctly spelt word.

e Milennium.

e Millenium.

e Millennium.

e Millenniam.
Correct Answer :-Millennium.
9)
Question Stimulus :-

DIRECTIONS: In the following questions four words are given. Find the correctly spelt word.

Questionaire.

Questionnaire.

Questionnair.

Questionaier.
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Correct Answer :-Questionnaire.
10)
Question Stimulus :-
DIRECTIONS: Fill in the blank with correct preposition.
He is abhorrent __ dowry system.
o for
e at
* on
o of
Correct Answer :-of
11)
Question Stimulus :-
DIRECTIONS: Fill in the blank with correct preposition.
He was accused __ theft and later found convicted.
o of
e with
e on
e by
Correct Answer :-of
12)
Question Stimulus :-
DIRECTIONS: Out of the given options, which will be the correct passive form of the given sentence?
Sandra has folded all the clothes.
e All the clothes were folded by Sandra.
e All the clothes has been folded by Sandra.
o All the clothes have been folded by Sandra.

e All the clothes was folded by Sandra.
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Correct Answer :-All the clothes have been folded by Sandra.
13)

Question Stimulus :-

DIRECTIONS: Choose the correct article.

_____old are respected by the young.

e A

e The

e An

e No article required.

Correct Answer :-The

14)

Question Stimulus :-

DIRECTIONS: Choose the option that has the correct form of indirect speech.
The man said, ‘the lion died in the night’.

e The man said that the lion died in the night.

e The man said that the lion was dead in the night.

e The man said that the lion had died in the night.

e The man said that the lion had been dead in the night.
Correct Answer :-The man said that the lion had died in the night.
15)

Question Stimulus :-

DIRECTIONS: Arrange the following options to get a meaningful paragraph.
(A) Although life is complex and mysterious.

(B) Who does his duty.

(C) We cannot go through life without sorrow and suffering.

(D) No man can be discontented.

e ACDB.
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e ADCA.

e CDBA.
e CADB.

Correct Answer :-CADB.

Topic:- General Computer Knowledge

1)
Question Stimulus :-
What is the base of octal number system?
JieFee SAaT YOS T YR FAT ]
e 2
e 4
e 10
e 8
Correct Answer :-8
2)
Question Stimulus :-

Which section of the computer selects, interprets and monitor the execution of the program?

FFYL FT FieT | HT TANH F FFITG F) AoTe seved 3
AT FAT8?

e Monitor./ HfAET

e Arithmatic logic unit./37d#R® aifar+ ﬂﬁ?

e Control Unit./ HTeere ﬂﬁ?

e Central Processing Unit / '\‘ET-T wrafdeT 1‘1@3
Correct Answer :-Central Processing Unit / @@T*l' wrafder q,\ﬁl?

3)

Question Stimulus :-
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MSI is the abbreviation used for?
MSI &1 "fdcd &7 7471 872
e Medium Scale Integrated./ fAfSIa Ther E'a?:ﬁ.'g

o Micro-star Integrated./ #ATSH! TR sfedes

e Medium Scale Intelligent./ fATSIH Ther seellsic

e Medium Scale Integration./ Aftgw & wﬁqﬂ'
Correct Answer :-Medium Scale Integration./ fAT3IH Tha sEAwT
4)
Question Stimulus :-

Which of the statement is TRUE with respect to Interpreter?
faeeT & @ it Y 3iTca SeWeT F AT AN 82
e It translates one instruction at a time./ g Th AT A v fAder A aedier +ar %’
e It translates whole program at a time./ WWW??WW AT &
o Repeated Interpretation is not necessary./ SR-8X SATEAT AT Tgl gl
e None of the above./ E?Iﬁ"\q'aﬂ? Sﬁﬂﬁ
Correct Answer :-It translates one instruction at a time./ g Ush THAT A Teh AEA F Tedier HIaT &

3)
Question Stimulus :-

Which of the following memories needs to be refreshed after certain amount of time?

foee & & Fla @ A9 A o THT F 715 Rber F1 w51 2

SRAM

DRAM

e ROM

PROM
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Correct Answer :-DRAM

6)
Question Stimulus :-

Keyboard is a type of device?
Frars fRarsH #1 v THR B
* Output./3T3CYC
* Input./geTq<
e Storage./TERT
o Memory./ﬁﬂ’m’
Correct Answer :-Input./geTqc
7)

Question Stimulus :-

is one of the small set of data holding places that are part of a computer processor.

, FFYY WAL T T VAT TAT 8, ST61 ST I BIC BIC ATH ¥ TWT AT 9|

VLSL/&).Te.TH.3TS.

Register.AfoFex

Hard disk./gTs f3¥&
Magnetic disk./#H7afes BT

Correct Answer :-Register.Ifa¥ex
8)
Question Stimulus :-

To make a copy of the current document to disk?

f3Ew & fAT adHTT eTada H1 v ufa a9 & fow?
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e Use the ‘Save’ Command./Qd FHTS FT AT FY|
e Use the ‘Save as’ Command./Qd TH FHTS HT T FHY|

e Use the ‘Duplicate’ Command./gSelIehe FHATS FT TAWT FI|

e Use the ‘Create copy’ Command./fF3e HTdY HHTS HT TIT HI|

Correct Answer :-
Use the ‘Save as’ Command./8d TH FHIS HT I HY|

9)
Question Stimulus :-

What is the shortcut key for Hyperlink in MS Excel?
TH TH T & geufas & AT aiéhe fraam g2
e Ctrl+R
e Ctrl+ 0O
e Ctrl+T
e Ctrl+K
Correct Answer :-Ctrl + K
10)
Question Stimulus :-

Which Shortcut key is used for Spelling check in MS word?

i TT ATCHe HT TH TH g2 H VAT H I & forw g3er g Jar &2

e F5

e F12

e F7

e F8
Correct Answer :-F7
11)

Question Stimulus :-
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allows more than one program to run concurrently.

v & 31t W v ry g Y At dar 8

Multi User./AeY Yol

Multi processing/@ear Trafaer

Switching system./FRT AT

Multi tasking./ AT ITEH
Correct Answer :-Multi tasking./ AT ETiEHaT

12)
Question Stimulus :-

Which of the following command is used to check the IP level connectivity?

=T F1HAYE A i A1 A T FaAfFe S i s F & v yaer fFaraar g 2
e Deltree./3a¢r
o Dir/3L.3M8.3}.
o ChkdskRA%EFR
e Ping/Rar
Correct Answer :-
Ping/far
13)

Question Stimulus :-

Which one of the following extends a private network across public networks?
e & ¥ FI9.91 tF USaT ATaF F HASIoF sicdew H theldr &2
e Local Area Network./

Ao TRAT AcaH
e Virtual Private Network./ade WI$d< Aca®
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e Enterprise private network./TUeIHTSST HTEAC Acash
e Storage area network./FERS TRAT Aeah

Correct Answer :-

Virtual Private Network./ﬂﬂ?-l’ ‘JH%?E' Acad

14)
Question Stimulus :-

Network congestion occurs?

Acas iz g g2
e In case of traffic overloading./aﬁﬁ? RAET & AT A

e When a system terminates./sTd Teh' YOTTel FHATCT ?I' STt %‘
e When connection between two nodes terminates./ST& &r Fﬂ?}l’ & i g gATST HESIGI %’

e None of the above.ls?lﬁ' a ﬂﬂ? oY a'-l?l'
Correct Answer :-In case of traffic overloading./¢f%& 3faTeNfSer & AHA H

15)
Question Stimulus :-

IP version4 isa  addressing system?
HEN FERUT4TH ) FaIfd JorTelt 872
e 32 bit
e 16 bit
e 128 bit
e 14 bit
Correct Answer :-32 bit

Topic:- Reasoning

1)

Question Stimulus :-
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In the given question, two words are given such that they have a relation to each other followed by
four lettered pair of words. Select the lettered pair that has the same relationship as the original
pair of words.

Triangle: Hexagon

for gu weeT & Y oo 3 WE ¥ I gU & & 3 0w # Fowaw ¢l §9F 99 aee} F
IR TeA R w3 §) e aeg gew gfAv e @ waw o Y A aee 3w A B
e Square : Octagon / T : s
e Triangle : Angle / ﬁ'ﬂiﬁl’ : SIT
e Circle : Cuboid / Jcd @ €eITeT
e Rectangle : Pentagon / 3TId : WSFI’
Correct Answer :-Square : Octagon / T3 : st
2)

Question Stimulus :-

In the given series one number is missing. Understand the pattern of the series and insert the
number.

144, 121, 100, 81, ?, 49, 36

q g8 Aoft F v FEwr g g8 ¥ AN F FH A g gr v wear ol
144, 121, 100, 81, 2, 49, 36

e 72

e 64

e 76

* 66
Correct Answer :-64

3)
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Question Stimulus :-

Which one set of letters when sequentially placed at the gapes in the given letter series shall
complete it?

a_ab_baa_ bb _
HERT FT FlT FT WHE T TF WF RFd T & @ F § Aoft F qob F3am|
a_ab_baa_bb _

e cbbb

e abab

e acch

e bacb
Correct Answer :-abab
4)
Question Stimulus :-
CANCELLED

In a certain code SPRING is written as TRUMSM. How will ANGLES is written in that code
language?

f&dlt T T F SPRING % TRUMSM far@r Sirar @1 34t % a1 & ANGLES & #ar farar
STTaTT?
e BPHFMT
* BPJIQY
* YQHJPB
e TMFHPB
Correct Answer :-BPJIQY
5)
Question Stimulus :-

If RACKET is written as 813524 in a certain code, how would TRACK be written?

Ifd RACKET # 813524 for@T ATam & @ TRACK &I &7 for@a?
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e 24813
e 35418
e 48135
e 54312
Correct Answer :-48135
6)
Question Stimulus :-
Study the following arrangement and answer the question given below:
S*TMHS$2D=4C%8K&A?WP+@7F

If all the symbols are dropped down. Which is the tenth to the right of fourteenth from the right
end?

el caaeyr 1 AauE (@@ sreaas F3iR AT e a3 9o #1 3eav &

S*TMHS$2D=4C%8K&A?WP+@7F

Ife g3l TFa) ) B3 T S| o1$ 3R A legd Fr o AT cHar FiT AT

o 7

e H
Correct Answer :-W
7)
Question Stimulus :-
Study the following arrangement and answer the question given below:
S*TMHS$2D=4C%8K&A?WP+@7F

How many digits are there in the arrangement each of which is immediately followed by a
consonant?
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frafaf@a saawar 1 araue (@ sreaaer F33iT A e a9 vea F13ear &
S*TMHS$2D=4C%8K&A?WP+@7F

e # W fFaar 3w ¢ Oad Qi 915 v AT 87

None / &g

o 2

e 3
e 4
Correct Answer :-4
8)
Question Stimulus :-
Study the following arrangement and answer the question given below:
S*TMHS$2D=4C% 8K &A?WP+@7F

What should come in the place of question mark (?) in the following series on the basis of above
arrangement?

28=,8%& A&W, PW@,MT?
frrafaf@a caaear 1 wraureh q@e sreaaer F33iT AR T 1 vea w1 3ea &

S*TMHS$2D=4C%8K&A?WP+@7F

AT Aol A YesTaras Reg & TUTT R FIT 1T 910
2$=, 8% & A&W, PW@,MT?
e $

e H

o *
¢ Noneofthese/ 37 ¥ HI$ G

Correct Answer :-$

9)

Question Stimulus :-
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Which of the following is the fifth to the left of eleventh from the right end?

S*TMHS$2D=4C%8K&A?WP+@7F
fFTa) ¥ Fi7 71 g1€ 3R W TYRES F ISR qwarg?
S*TMHS$2D=4C%8K&A?WP+@7F

* %

e A

e D
Correct Answer :-D
10)
Question Stimulus :-

A and B are brothers. R is father of B. S is the brother of X and maternal uncle of A. Which of the
following X could be to R?

AR BHE FIRB & Rar §1 S, X &1 #41E 31X A &1 AF ¥ AERRTAT X T RFT I FT
HF g1 AT &2

Wife/ qfceT

Mother/ ATdT

Brother/ TS

Uncle/ dTdT

Correct Answer :-Wife/ 9fceT

11)
Question Stimulus :-

In the question below, there are two statements followed by conclusions numbered L, I1, III and IV.
You have to take the given statements to be true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusions logically follow(s) from the given
statements.

Statements:

(A) Some trees are not sharks.
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(B) Some sharks are not balloons.
Conclusions:

I. All sharks are balloons.

II. All balloons are trees.

III. Some trees are balloons.

IV. Some trees are not sharks.

AT RA IV A FA A IR B FUTE IR 3TF IEL I, 11 IR 1V Fwy & a3 1 3maer =
AT FYUAT F I AT &, T § F FaATT a2a1 § et g1 | Tt sy oty Sy ag AT i
PleT AT AT I FYUAT T 3TEROT FT &

Yo

(A)FS 35 AT L 8

(B) FE U TeaR ¢ 31

e

1. et o aean B

1. wsft oA 93 B

I F& Y3 Tean ¢l

IV. & U3 AT 781 1
« Only I follows / &ael I HTHIOT FIT ¥
« Only II & I1I follow / &de 11 31X I1I37]HTOT FT &
« Only either I or I1I follows/ 3@l T @Y I AT [I3THIVT FI &1
« Only IV follows/ el IV ITHIOT FIaT &

Correct Answer :-Only IV follows/ Fad IV HTHIOT AT %I
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12)

Question Stimulus :-

In the question below, there are two statements followed by conclusions numbered I, II, IIT and IV.
You have to take the given statements to be true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusions logically follow(s) from the given
statements.

Statements:

(A) Some google are cottons.

(B) No cottons are pillow.

Conclusions:

I. Some cottons are google.

II. Some google are not pillow.

III. Some pillowaregoogle.

IV. Some cottons are not pillow.

d AT A F A IR BaAFuT HIRITF I L 1L, 111 3R IV s R a3 &1 3y &
AT FUAT F T AT &, HA Q' d oA 241 A fiee gl | Toft sy afed vy aa fifsw
Prpleraras e I FY=T HT HTE0T FIAT L

Y

(AT T HI |

(B) I FHUTH afrar gt ¢
e

I ¥ H9N IET &

1. Fo P afrd Tei g |

I F& e IEre 8|

IV. & FIH afHE agi gl
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« Only I and IIfollows/ e I 3 IIHTHIOT FT &

« Either I or II follows/ IT &Y I IT III37s]H0T FX 8 |

« Either III or IV follows. T @Y I1I AT IV HTHIOT FIA 8|

« Only L IT and IV follows/ &ael LII 3 IV38vor #3a &1

Correct Answer :-Only I, IT and IV follows/ el LII ik IV 3] 80T I ¢

13)
Question Stimulus :-

In the question below, there are two statements followed by conclusions numbered L, I1, III and IV.
You have to take the given statements to be true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusions logically follow(s) from the given
statements.

Statements:

(A) Some gadgets are buffaloes.
(B) All buffaloes are witches.
Conclusions:

I. Some gadgets are witches.
II. Some witches are buffaloes.
IT1. All witches are buffaloes.

IV. Some buffaloes are witches.

AT RA TR NAF A B FIT IR 3TF I L, 1L, NI AR 1V Fsahd g s &1 3mae i
AT FYAT FY T AT &, HA QT oA a2a1 A et gl | Toft sy gfed vy aa fifsw
il T I FY=AT HT T FIT

hYeT:
(A) T TTHAE
(B) st #F SR 8
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s

L TS I SQERIAT
1. F& AgeRfal 3
1. gt SeERfaar 44 §)
1Iv. Fo 8 FgERfai €

Only I, IT and IV follows/ &aef LII 3T IV 317801 #:Xat § |

Either II or III follows/ IT @Y IT AT 111 3<[HI0T XA ¢

Only I & III follow/ &aer I 3T 111 3THTT FT &

Only I & II follow/ &aer I AT 11 TATOT Tt &

Correct Answer :-Only I, IT and IV follows/ &del LII v AJHIOT A&

14)
Question Stimulus :-

In a group of six women, there are four dancers, four vocal musicians, one actress and three
violinists. Girija and Vanaja are among the violinists while Jalaja and Shailja do not know how to
play on the violin. Shailja and Tanuja are among the dancers. Vanaja, Shailja and Tanuja are all
vocal musicians and two of them are also violinists. If Pooja is an actress, who among the following
is both a dancer and a violinist?

B¢ ARSI F UF T # IR AA(HAT 8, IR T argen, T e § 3R fier araforer aee B
e 3t g aafoeT aget & @ €, Ffaw deen 3 Feo aafae ao=r 748) stadY| Ao 3
aeJaIT ST fal 7 & 31 Fotart, oo AR aogar S aree 8 AR 373 & & arafore arg off §1 afe
eI e &, A e 7 @ e A 3R aafee aew At € |

Jalaja/ STel<IT

Shailja / &=

Tanuja / deJaiT

Pooja / oIt

Correct Answer :-Tanuja / deJslT
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15)
Question Stimulus :-

An ant has to climb a pole of height 120 feet. On the top of the pole there is a candy that the ant
wants to eat. The ant climbs 30 feet at the beginning of each hour & rests for a while when he slips
back 20 feet before he again starts climbing in the beginning of the next hour. If the ant begins its
ascent at 8:00 a.m., when will he first touch the candy kept on the top of the pole?

T I F 120 BIE 3T @ W TSATE | N F I 0F Ao § o e @ aed §1 fifrgwae
F TIRET A 30 e Tt IR F& 3T IR FId TAT 20 Hre AR fvwer STl 8, ik s e &
YRS H TG % Fcll & | IR < 37l T Yo 8 Tk YT FA ¢ A a5 TS A Fiw wg |

7:00 p.m./ QTH7:00sST

6:00 p.m./2ITH 6:00 ST

5:00 p.m./2ATH 5:00 Tt

4:00 p.m./2ATH 4:00 Tt

Correct Answer :-6:00 p.m./2ITH 6:00 ot

Topic:- Agriculture Engineering

1)
Question Stimulus :-

The vertical distance between the two consecutive contour is?
& e Fiegy & &9 7w ad gt fBrae g &

e Vertical equivalent/ d«ad TA®HET

 Horizontal equivalent/ &ifafar T#sar

e Diagonal equivalent/ Rt gawar

e None of these/ 57 & #I$ A¢T
Correct Answer :-None of these/ 3T & F1§ 7T
2)
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Question Stimulus :-

Following tape is employed for the purpose of greater accuracy survey work?

gdeTor FR 7 3T 30F ThFar & v 3T & Reafaf@a & @ 5 A3 F1 3939 Farsar s

Cloth tape/ 93 FT HYdT

Metallic tape/ 1] FT BT

Steel tape/ T &1 HraT

Invar tape / SAGR YT
Correct Answer :-Invar tape / AaR HYdT

3)
Question Stimulus :-

Instrument which are used for the drop out perpendicular offset on the main survey line is?
HET WIETOT 1S W 31T 13T dada Awde & fav frw seegae &1 waer frar omer &

« Steel tape & plumb bob/ T 2T dYUT Taa did

e Metallic tape & cross staff/ #eifa® ¢ TUT FIF qF

e Plumb bob & arrow / CaFd afd 94T WY

e None of these/ 48 ¥ HI$ gl

Correct Answer :-Metallic tape & cross staff/ #eifaie T IUT HIH I
4)
Question Stimulus :-

The method of differences of the staff reading for calculation of the RL?

RLEAY 01T o & AT e {ffr & Ry i ffr s ot &

e Height of instrument/ $=¢g¥e H FaT$

« Contour method/ F=¢t fafer
¢ Rise and fall/ TTSST TUsS Glel
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e None of these/ 578 & FI$ ET

Correct Answer :-Rise and fall/ q7TST TUS WIel
3)
Question Stimulus :-

The instrument which automatically registers the numbers of the paces?
e seegdic gann AT A F&IT FH FAAd T & gof HAT 1T B
Passometer/ SW#Hex

Pedometer/ 981HIEY

Odometer/ 38R
Speedometer/ TdE1HeT

Correct Answer :-Passometer/ 3a1HeX
6)
Question Stimulus :-

A series of straight, parallel and equally spaced contours represent a?

T, AT a7 TA g0 FIegd 1 s@ar 7y gafeh -

~

Plane surface/ AdIT Adg

Hilly top/ JgTst efiY

Depression/ ddHd

None of these/ 38 & HE gl

Correct Answer :-Plane surface/ ¥AdeT ddg
7)
Question Stimulus :-

A closed contour line with one or more higher ones inside it represents?

TF Follos FleeX a5 fod@A T A7 3f0F Icaar @Y arfde &, a8 Fd geriet @
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e Plane surface/ §AdIT Adg

e Hilly top/ Tgrdl ofiy

e Depression/ JddHed

e None of these/ 577 & #I$ ¢T
Correct Answer :-Hilly top/ 9grsY efiy
8)

Question Stimulus :-

A closed contour line with one or more lower ones inside it represents a-

UF Fdles FlecY aiga orwd tF A1 It e W afae &, a7 e g @
e Plane surface/ G ddg
e Hilly top/ gt ofit
e Depression/ AdsTdd

e None of these/ 3dH ¥ HI$ AL

Correct Answer :-Depression/ deHe
9)
Question Stimulus :-

Fixed reference point of known elevation called as?

AT T & AU West arge w FAT Fgl AT §
Bench mark/ d9HTH

Change point/ IR Ta18e

Turning point/ efetor carge

Reduce level/ §CT §'3TI' EX
Correct Answer :-Bench mark/ TS

10)
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Question Stimulus :-

The vertical distance of a point above or below the datum is called?
$oT ¥ W AN A & feg H daad gl F T Fr T
e Reduced level/ ©ICT §'31T L 3E8
e Bench mark/ d9#HTH
e Height of instrument (HI)(d)/ $=¥gHE $ Fa1§ (HI) (d)
e None of these/ 378 & 1§ g
Correct Answer :-Reduced level/ &ICT §'3TI' X

11)
Question Stimulus :-

The rod (level staff) reading taken on a point of known elevation called?
s (daa Ferw) {ffT o A vaders g W form Smar 8, 3@ F41 &8t o @

Fore sight/ B HISC

Back sight/ 3% HIB<

Plane of sight/ HISC T Telel

None of these/ 3T & FI§ g

Correct Answer :-Back sight/ 3% ¥18C

12)
Question Stimulus :-

The (level staff) rod reading taken on a point, the elevation of which is to be determined is called?

(AT TeTw) U3 fF feg ov o amar 8, oS vedee &t AuiRa frar s 8, 3@ &= &
ST &

e Back sight/ 8% HISE
e Back bearing/aﬂ? frafar
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e Fore sight/ PRETSE
e Bench mark/ STAT®

Correct Answer :-Fore sight/ BIRATSC

13)
Question Stimulus :-

An intermittent point between the starting and the end points and denotes the shifting of the level called?

geardt 3R sifae Regat & e # sexfeee wase ik daw @ AT Ft F7a1 Fa1 aar @

Change point/ YR@de fawg

Middle point/ q¥ET ﬁﬁ

Intermediate point/ HEITA! ﬁ?g

Closing point/ 3fa# ﬁﬁ_'

Correct Answer :-Change point/ IR@d faeg

14)
Question Stimulus :-

Give the designation to the scale 1/1000?

1/1000 ¥A™ #T e §
e Icm=10m
e 1lcm=100m
e 1cm=100mm
e 1cm=100cm
Correct Answer :-lcm=10m
15)
Question Stimulus :-

Passometer is used to measure the?

$arleT F1 39T AT F @ fREd A9 F9 F O Ry ST #
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e No. of paces in a given distance/ fFdY fAuRa {ﬂ # FeAl 1 gE&ar
e No. of steps in vertical plane/m Tl A Al HT TEAT
e No. of obstacles in a distance/ g # amemait &r AT gft 7 aensit i wE&7T
e No. of revolutions in a distance/ g ¥ =T T HEAT
Correct Answer :-No. of paces in a given distance/ Tl raiRa E@' # FeAl fr gE&ar

16)
Question Stimulus :-

Self ignition or compression ignition engine are termed as?

do® T AT FEAAT AT ST T FAT A AT F1T §:

Petrol Engine/ Yl Fsiel

Diesel Engine/ 3Tl Tl

Steam Engine/ T&H 3ol
None of these/ 3T & HI§ G

Correct Answer :-Diesel Engine/ STl Tl

17)
Question Stimulus :-

Name of power which is generated at the drawbar of a farm tractor is?

B ¢FeX HY 3R W YeT g1 arell 9ray &7 A Fd1v

IHP/ 3mgu=dY
BHP/ sfready

FHP/ vhuadY

DBHP/ fdfiwadt

Correct Answer :-DBHP/ SsiiuadY

18)
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Question Stimulus :-

Which is not a part of the valve operating mechanism?

farafaf@d & ¥ F41 area IR gaeur &1 {FEar T8 &

Push rod/ gar s

Rocker arm/ &Y 3TH

Cam Shaft/ &H e

Crank Shaft / & UATFC

Correct Answer :-Crank Shaft/ &% eFC

19)
Question Stimulus :-

Single cylinder OHC uses following method of cooling system?

fiorer Ravst oHe & fwarfaf@a & & Ffder At sl o yomel 1 w=ver R Smar @
e Steam cooling/ T&H Hfdr

Water cooling/ arex Ffdar

Air cooling/ TIT Hfder

None of these/ 378 ¥ HE gl

Correct Answer :-Air cooling/ TIT &feer

20)
Question Stimulus :-

Direct sowing in the harvested field is termed as?
grfees s & ST qaATE F FAT FET A E-
e Zero tillage/ YT TS
e Minimum tillage/ FsTdH S[AT$
« Conservation tillage/ H&T0T TS
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« Mulch tillage/ H&TOT JaTS
Correct Answer :-Zero tillage/ [T S[dT$

21)
Question Stimulus :-

Name of power which is generated at the flywheel of a tractor is?
F & FaTSEI A o1 @1 aTell UaR HT A I

e IHP/ 3mugdY

e BHP/ dwadt

e FHP/ Thuadr

« DBHP/ Sidfiwadt

Correct Answer :-BHP/ sfiuadY

22)
Question Stimulus :-

Name of power which is generated in the cylinder of an IC engine is?

IEH g9 & {evsy # U1 g arell giaw FT ATH a9
o |HP/ 3TSTTdY
« BHP/ dugd
e FHP/ TwhuadY
e DBHP/ Sidrwadt

Correct Answer :-IHP/ 3Ty

23)
Question Stimulus :-

The shaft which raises and lowers the inlet and exhaust valves at proper time?

9% AT Y 3T ¥HT W S+aie 3R wooe ared & 3ord 3R A e &, A Far Fgr Frar @
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e Crank shaft/ %% QM¥FC
e Cam shaft/ #H e
e Rocker shaft/ T&HT ATFS

e None of these/ 3dH ¥ HI$ g

Correct Answer :-Cam shaft/ &7 eMFe

24)
Question Stimulus :-

In modern pressurized tractor engine cooling systems the boiling point is raised approximately by
1°C for increase in coolant pressure by?

ITYfAF FIRFFd TFT S Ffcker yonfadt F Fayars & o9remr 1°C AT i Fiwr e 7 sy wfera afg @
Goikd

e 1kPa

e 3kPa

e 2kPa

e 4kPa
Correct Answer :-2kPa
25)
Question Stimulus :-

The most harmful vibration frequency for a human being is?
AT & v @il giffeRs #ud TRERaT R A d s @ ad ¥ 2

Less than 1 Hz/ 1 Hz & &H

1 to 20 Hz

50 to 2000 Hz

75,0000 Hz

Correct Answer :-1 to 20 Hz

26)
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Question Stimulus :-

When the amount of torque to be transmitted is very high and frequency of occurrence of overload is low, the
type of safety device that can be employed in farm machine is?

e AT AT o are 2% A A aga AT PN § aur dawes & aRRa @ i aREERa
et 2, ot oot wefler & 5w YR & FRET ITFIOT FY qA FY IJTERIFAT gl g-

Safety jump clutch/ &I SIFT Feld

Safety friction clutch / &I fherereT Ferer

safety shear pin / {T&T A Re

V-belt/ di-dee

Correct Answer :-Safety jump clutch/ gI&TT STFT Feld

27)
Question Stimulus :-

The lateral stability of four wheel tractor in a turning situation can be increased by?
efdar Rufa & IR i ad e i gRds fevar & Afaf@a & & fFad seT o1 g@ar §
e Increasing the radius of the turn/ T & I H dGIhY
e Increasing the height of the C.G/ ®Y.3fl. #r FaT§ H TgTah
e Attaching a front end loader/ e TUS dlsT H HeET &
e Increasing the total wt. of the tractor/ ¢&eI & $el qoldl HI TG
Correct Answer :-Increasing the radius of the turn/ Tl & U HT TR

28)

Question Stimulus :-

In an epicyclic gear speed reduction unit, the ratio of the number of teeth of the angular gear to sun gear is?

tREEFas e v fis Rewe gfae #, a0 e & goem # v A i Sy &1 seqara F
gar

o 3:1

o 4:1
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e 2.5:1

e 4.5:1
Correct Answer :-4:1
29)
Question Stimulus :-

The toe-in provided in a tractor is approximately?

SFeT H gar fFAT AT 3T FT INHR FAIHI fham gar &

e 14 mm to 15 mm

e 7mm to 10 mm

e 18 mm to 25 mm

e 2 mm to 3 mm
Correct Answer :-7 mm to 10 mm
30)
Question Stimulus :-

The calorific value of HSD is?

TSl &1 FA A fRdeT @ar ¥
e 10000 kcal’kg
e 10550 kcal/’kg
e 11000 kcal/’kg
e 11650 kcal’kg
Correct Answer :-10550 kcal/kg
31)
Question Stimulus :-

The amount of liquid required for spraying plantation crop is?

cdATeeT B & v NfAT geg v A fFaa axdt &

e 400-600 lit/ha
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e 600-800 lit/ha

e 800-1000 lit/ha

e 1000-1200 lit/ha
Correct Answer :-600-800 lit/ha
32)
Question Stimulus :-

More spraying pressure results in?
IAF TET NR F TROMHATTE F47 T &
e Reduction of droplet size/ ag & AR H FHAY
e Increase of droplet size/Ej\E & AR H aj?
e No change in droplet size/ E:c‘\' & IHR H FIS HAT AT
e None of these/ 57 & #I$ A¢T
Correct Answer :-Reduction of droplet size/ g & 3THR ¥ FH)

33)
Question Stimulus :-

Air blast sprayer is used for?

TR saRe TR HT 53097 Fad e fFar anar @
o Field crops/ ®es A
e Gardens/ F3M4Y
e Orchards/ qﬁﬂﬂ?ﬁ’l’
e Nursery/ s8
Correct Answer :-Orchards/ gl

34)
Question Stimulus :-

Knapsack sprayer is suitable for?
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drdE TR FEE T sugEd @ @
e Brushes/ 311%111'
¢ Row crop/ 9f¥d wae
e Small trees/ B 95
e All are correct/ Y T@Y %
Correct Answer :-All are correct/ 3T TE &

35)
Question Stimulus :-

The solid cone nozzle is used for?

B &I dAlotel &1 AT e v fFar amar
e Weedicides application/ @ YddR #ATM& TTHIhAT
e Fungicides application/ warH Al Teelhera
e Herbicide application/ AT TTeh T

o Insecticides application/ dYeaATeft TeeliahareT

Correct Answer :-Weedicides application/ @Y TddR ATMS TTellhueT

36)
Question Stimulus :-

Operated pressure of power sprayer?
Uiay TIAX FT 3ULT NN F4T @)elm §
e 1-7 kg/cm2
e 12-20 kg/cm?
e 20-55 kg/cm2
e >55 kg/cm?

Correct Answer :-20-55 kg/cm>
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37)
Question Stimulus :-

Wind erosion is common in?
I HEROT fFE &1 F wAeT W @ g &
e Humid region/ 3¢ &
e Arid region/ ssX &
o Arid & semi arid/ s9I¥ 3R 3¢ SO &7
e None of these/ 57 & #I$ A¢T
Correct Answer :-Arid & semi arid/ ¥5I¥ 3i¥ 314 soX &7

38)
Question Stimulus :-
CANCELLED

Contour bunds are adopted in region of?
forer a4t Fegr Tl It Iv=TT ST §-

Low rainfall/ &H 99T drel &

High rainfall/ 379+ aul

Pervious soils/ YaI& #aT

None of these/ 378 ¥ HE gl

Correct Answer :-High rainfall/ 31f@% auf

39)
Question Stimulus :-

Soil degradation takes place due to?
HaT 9T fArafaf@a & frw wRor @ g 2-

e Glacial erosion/ fgHsIg 3r98or
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¢ Geologic erosion/S{JTaﬁiT AT&TOT
e Accelerated erosion/ c@@Rd 319&0T

e None of these/ 348 ¥ HI$ A8

Correct Answer :-Accelerated erosion/ caRd 3q&or

40)
Question Stimulus :-

Removal of thin and uppermost top layer of soil from the land by overland flow is termed as?

IaTls yaTe AT HeT F gael IR T I W FT §ST A FT FAT FT AT g

Torrent erosion/ HHTYR F9T &0

Sheet erosion/efie 39aROT

Glacial erosion/ fgHsIg 3198101

None of these/ 3T & FI G

Correct Answer :-Sheet erosion/2fic 3198oT

41)
Question Stimulus :-

Wind erosion is more in?
arY HIEROT T4 § Fel S g ¢
* Cohesive soils/ ®lefAa #aT
« Non-cohesive soils/ 3X FeRAT Har
e Rocky soils/ Tl #Far
o All of these/ 3utaa &3t

Correct Answer :-Non-cohesive soils/ X Eﬂ%ﬁ? el

42)
Question Stimulus :-
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Class IV type land are?

T IV 9&R 1 qfA T gt 87

Suitable for cultivation/ @t & faw suged

Not suitable for cultivation/ @l & AT rugeFd

Partly suitable for cultivation/ &t & fow afas ¥ & 39gFa

None of the above/ ST & ®IE gl

Correct Answer :-Partly suitable for cultivation/ @<t ¥ faw 3nfs ¥ @ Iugaa

43)
Question Stimulus :-
Maize is a?

HAFHT T &

Soil maintaining crop/ #aT Y& (@ Hdel

Soil Building crop/ #er faator

Soil depleting crop/ #&T I &fior FIa aTell wHer

None of these/ 378 ¥ HE Tl

Correct Answer :-Soil depleting crop/ #aT # &fior FIA arell wHeT

44)
Question Stimulus :-

Potato is a -

3T 91 &

Soil maintaining crop/ #aT 3@ I@E ®Hd

Soil building crop/ #aT faATor wae

Soil depleting crop/ #&T &I &floT FIe aTell FHA

None of these/ 3T & FI§ G
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Correct Answer :-Soil depleting crop/ #ar #1 &flor FIA aTell FHAA

45)
Question Stimulus :-

Soil erosion is more in?

HeT A9EROT, FiT W FqeT 7 AfOF g &

Sandy soils/ ¥cltell #aT

Silt soils/ 3 AT

Clay loamy soils/ aTe[ g

None of these/ 3T & HI G

Correct Answer :-Sandy soils/ Yctelt HaT

46)
Question Stimulus :-

Major portion of soil carried by wind is moved in the series of short bounce called?
A aEH A WIS @R o AW I qTF F{ET & HET AW F FAT Fgl 1T ¢

« Saltation/ Greees

 Suspention/ I

e surface creep/ ¥F® #HT

e None of these/ 3a7H & 1§ g

Correct Answer :-Saltation/ dreeaa

47)
Question Stimulus :-

For a watershed where no conservation practice is followed, the value of conservation particle factor (P) to the
used in universal soil in universal soil loss equation for estimation of soil loss will be?

T aredls ST W R GIaTor WfFeq FT qrae 81 fFar Srar €, WIETT Hr RS (N) F1 A,
e w2er @ i @1fd & sregAe e & AT gfaede dfw wHlEor F gfaade @S F o
g STeen, ag F4T g
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e 0

e 0.5

e 1.0

e 1.5
Correct Answer :-1.0
48)
Question Stimulus :-

For a given condition, a high intensity rain produces?
el &t g8 Rufa & fow, o9 digar arel aRer g@rr F41 scurfed fFar S &

Less splash/ &dH Teter

Great splash/ T Tqeler

No effect/ P1E THTT C Rl

None of these/ 3T & FI§ g

Correct Answer :-Great splash/ A€ TIeter

49)
Question Stimulus :-

Trajectory angle during saltation is affected by?
WU & R TrorFedl G e & s @ ¥
o Particles weight/ S0l HT R
e Particle shape/ FUIT HT THR
e Particles alignment/ HOIT HT AIGOT
o All of the above/ 3URtad |3t
Correct Answer :-Particles alignment/ ®UIY T IQOT

50)

Question Stimulus :-
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Threshold wind velocity is low for?

T & O Fud AT duelcs gaT AT FA a1 ¢

Smaller soil particles/ BI¢ #HaT ST

e Heavier soil particles/ $TRY #HeT ST

Very fine particles/ EI§T-|’ H&H oT

None of these/ 3T & HI§ g

Correct Answer :-Very fine particles/ g HEH HUT

51)
Question Stimulus :-

The real soil loss is denoted by the phenomenon of?
Idfa® AT afy fFe vafa garr aRef@a e &2

e Transportation/ IRag

Detachment/ ‘{WUT

Deposition/ feraiqor

None of these/ 3T & HI$ G

Correct Answer :-Detachment/ TWUT

52)
Question Stimulus :-

El3g, I3 stands for?

Elzg, l30® T 3Me §?
e Rainfall intensity as 30 cm/ 30 ¥HT &F T H quT A fgar
e Maximum rainfall intensity for 30 min interval/ 30 Rde & IR F AT 3AFIF auT dgar
e Rainfall intensity at 30 min interval/ 30 e & 3rarer WX a9l igar

e None of these/ 3dH ¥ HI$ g
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Correct Answer :-Maximum rainfall intensity for 30 min interval/ 30 @9 & 3aX & AT FWFaH
asT dltear

53)
Question Stimulus :-

Drop structures are used to control?
3 FeaFad H AT Aeafaf@a # @ Ry ST &9 F A R amar §2
e v-shaped gullies/d 3THR el
* u-shaped gullies/ J Acs et
¢ Botha & b/g4Y a 3iTb
e All of the above/ 390Fa st

Correct Answer :-Both a & b/ @14l a 3L

54)
Question Stimulus :-

Spattering of small soil particles caused by rain drop impact on wet soil is called as?
Ul A & 99T & FROT @A gt B HOIT f TAERIT ' F91 Fgr AT 7?2
e Interrill erosion/ fecer rqaROT
e Rill erosion/ Rl 3rq870T
¢ Chemical erosion/ THIfA® 3TTEROT
e None of these/ 3dH & IS AGI
Correct Answer :-Rill erosion/ Rel 3rqa1or

55)
Question Stimulus :-

The soluble soil matters are?

goaaeliar st & aea sl @ 8 &2
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e Sand and silt only/ ¥d 3iX g Fae
e Clay and organic matters/ fAg} 3k sifaw a=
e Sand, silt, clay and organic matters/ ¥, Mg, fAZY 3k sifaw dca

e None of these/ 578 & FI$ ¢T

Correct Answer :-Clay and organic matters/ gt 3ix sifaw dea

56)
Question Stimulus :-

Sediment yield is the?

Afdee fies Prafaf@a & O =1 g 32

Total soil loss from an area/ fFdT & & iﬁl’ el afa

Product of gross erosion and delivery ratio/ el J&TOT 3 Bl Y &+ IOTeTh el

Both (a) & (b)/ &Y (a) 3T (b)

All of the above/ 390&Fd T3t

Correct Answer :-Total soil loss from an area/ fFdT &% & gﬁl’ #ar afa

57)
Question Stimulus :-

A unit hydrograph has?
IfAe gEgraTs A FAT giar 87
e One unit of peak discharge/‘fﬁ? T fr gﬂ-ﬂ?
e One unit of time base of direct run-off/ STAFE IT 3HTF & TRH I 6 TH TS
e One unit of rainfall duration/ 9T 3af&r & v éTﬂé'
e One unit of direct run off/ SRFE I IHTH H TF SHIS
Correct Answer :-One unit of direct run off/ S”RRFE I HTH T Th SHE

58)
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Question Stimulus :-

A hydrometric curve is a plot of?

T gEIAIeH Fa Fawr v gar 82

e Time of concentration and elevation curve of catchment/ '\qﬁw_;!.'UT FT AT 3R FadAT FT1 vadAA
Fq

e Area elevation curve/ TRIT TAAAA Fa
e Spot rainfall values and isohyets on a basin app/ ¥UTE JsTHTel ﬁ?{ aur afds T W mﬂé@
e Depth of rainfall & elevation of a catchment/ auT &Y IS AT FUdeec FT TAAAA

Correct Answer :-Area elevation curve/ TRIT TaldeAqT Fd

59)
Question Stimulus :-

The hydrologic flood-routing methods are?
e Equation of continuity only/ Fad fATaar &1 gHwIor
e Equation of motion only/ &del If T FHIHIOT
e Both momentum and continuity equations/ g a9 auT Aeaar aHIEr
e Energy equation only/ &del 3T FHISIOT
Correct Answer :-Both momentum and continuity equations/ i)Y WA TAT fA=aar FHHIor

60)
Question Stimulus :-

A plot of rainfall intensity versus time is called?

auT dgdT & TATE IATH AT F FAT FgT AT 872

e Hydro graph/ gIE3RITG
e Man curve/ #HdT Fd
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e Hyeto graph/ gACHITH
e Isohyets/ 3TI§'H’IET(’?
Correct Answer :-Hyeto graph/ 3eaIT®

61)
Question Stimulus :-

In a flow net, phreatic line acts as?
Fal e #, Wefed aBd FT T & FT T 87
e Central stream line/ FeglI YRT ST
e Top most stream line/ iy oy ollgel
e 100% hydraulic head line/ 100% gssifas 83 oEd
e None of these/ 3dH & IS AL
Correct Answer :-100% hydraulic head line/ 100% gissifa® EACIEG

62)
Question Stimulus :-

The initial infiltration rate is at capacity rate if the intensity of rainfall is?

yRiFN® RET X, &dar ¥ W a1 § I ot it diear g9 & F4r i 82

Less than the average rate of infiltration/ Rama #r T d A

Less than then infiltration capacity of the soil/ T #r RAT a1 ar § &7

Equal to or more than the infiltration capacity of soil/ T $r RET a/7ar & gAweT 1 AT

None of these/ 3T & FI§ g

Correct Answer :-Equal to or more than the infiltration capacity of soil/ QT #r RET a7ar & gARET
ar feew

63)
Question Stimulus :-

The formula for estimation of evapotranspiration using only temperature and day length is?
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Fael arAe 3 BT At da$ F @ TG T F TR SANSTHABRA F I6ATT 9T HT
BIHAT FAT FeT 872

e Blaney Criddle formula/ sodifhse q'TI'J'-j\TvlT
e Penman formula/ 95de WIﬁ;GIT
e Christiansen formula/ feaaTd=T ‘:b'I'J'-j\FIT
e None of these/ 3T & H'TT%' O
Correct Answer :-Blaney Criddle formula/ solelifhger ‘FI'J'-L?-lT

64)
Question Stimulus :-

In an irrigation channel the critical depth can be produced by?

RiTT§ derer F Refewher Tew§ Y Frad g@wT ey Rear SAT ¥2
e Lowering the bottom and reducing the width/ deH # AT FF AR iﬁ?ﬂg’ F FH P
e Raising the bottom and reducing the width/ dicH $1 FOT & iR s F FA WF
e Raising the bottom and increasing the width/ dicH F FAT & IR GiSTE T TETHT T
¢ Lowering the bottom and increasing the width/ deH A AEr wWE 3R isTE 1 TETHT I

Correct Answer :-Lowering the bottom and increasing the width/ e H s FF 3ix =lsE =
TETHT FT

65)
Question Stimulus :-

The ratio of volume of water added or removed directly from the saturated aquifer to the resulting
change in volume of aquifer below the water table is called?

AR T # afAe fFo a1 @srer 70 a6l A AT F1 g 9w FROT aeY A
¥ A TR & aregd # aRade giar 8, FT FAT FAT FET AT 87?

o Apparent specific yield/ TR TfATh® Aies
e Specific yield/ TP+ des
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o Storage coefficient/ TERST FHefbfAve
e Specific storage/ TAfATFF TR
Correct Answer :-Storage coefficient/ T€RST HITTHRATS

66)
Question Stimulus :-

Sub-irrigation is useful in a situation where?
37 A W fufa & sgaeh e &, ster we?
o Saline water is used for irrigation/ RaE & AT wauily gt &1 wAIT FFAT STAT 7

o Soil is heavy clay to permit high capillary rise/ 1§ FRfeTH BT H Hﬂﬂﬁ' ¢ & faw #Har et
g

e Capillary movement in the root zone/ &€ JleT 7 FRforad H@ﬁ'a'
e No hard pan is present below the root zone/ & ST & A ﬂﬂé’ G LC C Rl
Correct Answer :-Capillary movement in the root zone/ & 3\ H FRAferad H‘\Tﬁ?

67)
Question Stimulus :-

In designing regime canal, by using Lacey’s theory the velocity depends on several factor except?

mﬁmmmmgﬁmmmmm*mwmmw
feR w3 &, Rare?

o Depth of water/ Tl &Y IS

e Hydraulic mean depth/ aé@f?ﬁ: stwa agE

e Slope of channel/ ¥« &T FTAIT

e Lacey’s silt factor/ 09T Rec FR*
Correct Answer :-Depth of water/ 9Tsil #T ITES

68)

Question Stimulus :-
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The difference between a swallow tube-well and a deep tube-well is on the basis of

3y Tg@ad AR TN gEdwr F ArAfaf@a & IR 9w R Fan

Depth of tube well/ E}Eﬁﬂ' #r IS

Position of water table and pumb/ @leX eadl IR g A *ufa

Type of aquifer/ THIHT HT THR

Depth of aquifer/ THIHT FHT TS
Correct Answer :-Depth of aquifer/ THIHT HY TGS

69)
Question Stimulus :-

Darcy’s law is valid under the condition of ?
st &1 s frw fufa & @ g 32
e Laminar flow with Reynold’s number >10 / o8 H&AT >10 & T JAfAAR yarg

e Reynold’s number <1.0 / {8 HEAT <1.0 §

e Newtonian flow/ AT YaTE

o Steady uniform flow/ T A AR yag
Correct Answer :-Reynold’s number <1.0 / 3168 Ear <1.0 &

70)
Question Stimulus :-

Volume of 20 ha-m means?

20 ha- m aregA 1 3 AT gar 872

2 x 101em?

2 x 10%m?

2 x 1083em?

None of these/s'c'-lﬁ g EFT%’ Fl'e'?f
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Correct Answer :-2 x 1011em3

1)

Question Stimulus :-

Dimension of rate of flow of water is?
9l & YAIg &Y ST HT JTHR F4T T &7

L3T!

L2171

LyT!

None of these/ 378 & Hﬂé’ Flé’f

Correct Answer :-None of these/ 3R ¥ HIS 7SI

72)
Question Stimulus :-

Available water holding capacity is maximum in?

39eY ST YROT &TAT fhad rRwad Y &2

Clay loam/ Fe[3nfad

Sandy clay loam/ Ycftell Te[3m

Silty clay loam/ g JFd 3T AL

None of these/ 3T & FI§ g

Correct Answer :-Clay loam/ Se[HTfA2)

73)
Question Stimulus :-

1 bar is equal to?

1 R FaF & A 872

e 0.9869 atm

« Weight of 1020 cm water column / 1020 ¥.#l. ST FIeTdA F AR
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e 76 cm high mercury column/ 76 &.#. 3T #AFdFEH
e All of these/ ¥ wsit

Correct Answer :-All of these/ T T

74)
Question Stimulus :-

Trickle’ irrigation is also known as?
“Rrpor S Y 59 a1 F ot ST S 872
Sprinkler irrigation/ f¥y&e =g

e Drip irrigation/ 39 R=r$
Surge irrigation/ et =g
None of these/ 3T & HI g

Correct Answer :-Drip irrigation/ 37 =g

75)
Question Stimulus :-

Precipitation includes?
auur & Fa1 MfAe gar 82

Rainfall/ 9T

Snow melt/ 9% &T gd=T

Hail ,Mist, Fog/ 3i1dY, 4, HIgr

All of the above/ 3Ted

Correct Answer :-All of the above/ 390&d T

76)
Question Stimulus :-

Non - recording rain gauge records?
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Cumulative depth of rainfall’ a9T &Y digar

Rainfall intensity/ auT & T==it T8E

Snow melt / T EAAT

Cloud cover/ 9Igdl T HaT

Correct Answer :-Cumulative depth of rainfall/ asT $r digar

77)
Question Stimulus :-

The conjunctive use of irrigation water means?
R I & FATF TAT FT F41 JF gar 872

« Combined use of water for irrigation and Hydropower generation/ R=a1§ 3t 9a faerel
e & fav gt #1 gAifea g

« Use of water by cooperative farmers/ WgFRI fhaTsil g@RT 9Tt &1 39ANT

e Use of water for irrigation both kharif and rabi crops/

TOF 3 & AT FEET FT I FE F AT 9 ST g

« Combined use of surface and ground water resources/ gad! 3R {fAara Fa At F1
wAfSra saahr

Correct Answer :-Combined use of surface and ground water resources/ gdar ik %@11?[ STl
AT F1 ST I9FEr

78)

Question Stimulus :-

The highest area under sprinkler system of irrigation applied in which state?
fra o & wed 3w HA & v Biwa A gomelr 1 g=2ver B smar #2
e Maharashtra/ #AgRISC
e Madhya Pradesh/ A& gaer
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e Haryana/ gimom
« Karnataka/ #viTesh
Correct Answer :-Haryana/ gRamom

79)
Question Stimulus :-

Recording type rain gauge records the rainfall in terms of?

RS g & Yemerer q@nT fre weet & awt w1 RS frar strar 372
Depth/ IEITS

Depth and time/ g0E 3R THT

Volume/ #ATAT

Sp. Weight/ Tadl, #X

Correct Answer :-Depth and time/ € 3T a7

80)
Question Stimulus :-

The capacity of individual compartment of tipping bucket type rain gauge is?
R a¥e 8T 3T AT & Ycds FFURHE $Y &THaT fFaelr e &7
e (.50 mm
e (.25 mm
e 1.00 mm
e (.15 mm
Correct Answer :-0.25 mm
81)
Question Stimulus :-
In windy storms, the rain gauge catches?
AT €41 qF G &, ¥ Ao @RI FT aet R S ¥
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o Less rainfall/ &% g§T

e More rainfall/ 37T a§T

e Ice crystal depending on wind direction/ §aT &Y f&am & IR W 3M$H fheed
e 1.25 cm rainfall only/ %ael 1.25 f&.#). aut

Correct Answer :-Less rainfall/ & JuT

82)
Question Stimulus :-

The area enclosed in between ridge line or ‘drainage divide‘ that contributes the runoff towards a
common outlets is termed as?

R a1ger a1 ‘3as Bass’ & fiT # 3 g &89, BWF & AE F TF 9 AHT AScACH Y
I o AT AT §,F FAT FgT AT 872

Watershed/ STel ¥

Catchment/ STelaIgor

Basin/ af@sT
None of these/ 3T & FI§ g

Correct Answer :-Watershed/ Stel 3T

83)
Question Stimulus :-

‘Watershed’ reflects the interaction of different features viz
‘T T R RdvaEt § dv wew S # et 8, e
* Soil cover/ #AT HaX
o Vegetation/ gATIfaAT
« Topography/ ¥qamFfa
e All of the above/ 3TeFd Faft

Correct Answer :-All of the above/ 3T\ad T
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84)
Question Stimulus :-

The time of concentration of a watershed is proportional to?

AT F WHEOT F AT fFeF Ao gar 32

. L177
. §0.385
o L1-77 g0.385

. 0385

Correct Answer :-S0-385
85)
Question Stimulus :-

‘Watershed’ is a?
‘STl THT AT 87

Geohydrological unit/ ${TeliT JfAc

Water parting boundaries/ e fa=de® HiATT

Drains water to a common outlet/ T HHIFT 33¢AC H U=l HI 3T HIAT

All of the these/ 3TFd Y

Correct Answer :-All of the these/ 3TRad Y

86)
Question Stimulus :-

‘Catchment’ is?
STITEoT 4T gdT 87
o Water collecting area/ STl '\‘I‘JE'UT aw

» Having aerial extent/ ga1$ favdarR
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 Contributes overland flow/ 31aTelvg Yarg & JeTeeT HIdT
o All of the these/ 3q&a st

Correct Answer :-All of the these/ 3TRad Y

87)
Question Stimulus :-

The drainage divide refers to the?

3o f3arss &1 ey F4T AT 82

Valley/ €TéY

Ridge/ Rt

Forest land/ 9 H‘ﬁ'

Both a & b/ &Y (a) 3 (b)

Correct Answer :-Ridge/ Rt

88)
Question Stimulus :-

The shape of watershed is expressed by?
qTERAS F IMFR F! FHS ganrT rffregerd frar simar 82
¢ Shape index/ TRR lﬁlm
o Compactness coefficient/ {I;H%'f?l’ ?IUI'H'?
e Bifercation ratio/ aj%ﬁrana?r Aeurd
e Form factor/ B HR&

Correct Answer :-Shape index/ THR FEIW

89)
Question Stimulus :-

Which of the following can deteriorate the watershed?
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SIH ¥ T ¥ ITeTT HY I5a] H AT ST ThdT &2
« Raindrop and fire consequence/ 31T3T T TROTH
e Extension of industries/ 3'(.‘\3ﬂ1ﬁ CORTLT 08
¢ Unscientific mining and quarrying/ Idafas T GAd
e All above/ 390 3t

Correct Answer :-All above/ 390Fd T

90)
Question Stimulus :-

The linear aspect of watershed is analyzed in terms of?
qreTAs F YT gge] 1 faearyor fra weed 7 R Srar &2
e Stream order/ TEIH HA
e Length of overland flow/ aTelvs FaY Y da1
o Stream length/ ¥ &Y CCIES
o All of above/ 39N Tt

Correct Answer :-All of above/ 39T THY

91)
Question Stimulus :-

In a watershed the dominancy of overland flow/runoff is identified by the parameter?
IETAT F HTAVE Tl AAHTE & T9cd 1 Tgaet e Riefex I $r e 2

e Drainage density/ Ssiof Uelcd

o Stream order/ T&H FH

e Stream length/ TSI &Y CLIES
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« Bifurcation ratio/ fafa8ITaTeT re[arer

Correct Answer :-Drainage density/ 3a1oT Helcd

92)
Question Stimulus :-

Length of engineer’s chain is
FAAAT AT Y 1§ Fra=i gt &

* 100 ft long/100 Fe et

* 66 ft long/66FC el

e 33ftlong/33 Fe odll

e None of these/ 3aAH ¥ H$ gl
Correct Answer :-100 ft long/100 e ot

93)
Question Stimulus :-

The method of leveling in which one sets up the dumpy level instrument several times is?

A g1 T 75 A Fia i § Twd 5o daa seegsic w1 #§ TR e Faramarg?

Fly or differential levelling/ 1§ a1 BwRIRaer Aafer

Profile levelling/ WhTSel aafeiar

Reciprocal levelling/ If@9ewer aafear

Cross sectioning/ T deFerfaier

Correct Answer :-Fly or differential levelling/ FaT$ a1 BwRIRIIer dafer
94)
Question Stimulus :-

The following is longest line drawn during chain triangulation survey work?

AT TTUIAAT S H1F F aNe farafaf@a # @ sl @ wa@t awdt arger di=h s 32
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o Base line/ 3FaST
e Check line/ ¥« w3

o Tie line/ /eT§ w8
e None of these// 5AH ¥ :E gl
Correct Answer :-Base line/ SHdTS

95)
Question Stimulus :-

A coulter attachment is used with?

Fee eI T AT FFEd 1Y AT T 32
Disc harrow/%ﬁ?%ff

Seed drill/ 3 3

MB plough/ T &Y TaTa

Subsoiler/ I AT

Correct Answer :-MB plough/ T &l taT3

96)
Question Stimulus :-

In combine harvester, the reel speed index varies from?

Frarsd gRAE &, Rer vfs s=ww & e aREd=r g §2

1.25to 1.5

2to2.5

2.5t03.0

3to3.5

Correct Answer :-1.25to 1.5

97)

http://localhost:61852/ 80/82



11/24/2015 localhost:61852

Question Stimulus :-

Lister is also called?
forrex &1 g A fawafaf@a 2
e Deep furrow opener/ 317 gﬂ’f YR
« Ridger/ =R
e Trencher/ g?R
e Turn wrest plough/ Tol TEE TS

Correct Answer :-Turn wrest plough/ & 3I¥€ T3

98)
Question Stimulus :-

If the impeller speed of a centrifugal pump is doubled, the power consumption will be?

I F=dIgerer T it TrteR Ty &1 gare T foT STa 8, wiaw Y @ua F47 gei?
o same/a?f
e Doubled/ GI[=A

¢ Four times/ IR ot
 Eight times/31TS J[0T

Correct Answer :-Eight times/31TS 3[0TT
99)

Question Stimulus :-

A geological formation which is essentially impermeable for flow of water even though it may
contain water in its pores is called?

T o FXT o fF 9Tl & garg & fore srferar v & 3raig @, gt sad et & arelt
AR 8 WehelT 8, 38 FAT FgT AT 87

o Aquifer/ THIHT
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o Aquifuge/ THRIFIST
e Aquitard/ TS

o Aquiclude/ THIFS

Correct Answer :-Aquitard/ THhIES

100)

Question Stimulus :-

In sprinkler irrigation overlap increases with the?
fevaa R & ety WY §aT §
 Decrease in height of sprinkler head/ f®9®e 88 #r Fa1$ & FA
e Increase in height of sprinkler head/ Ru®e 85 # Fa€ & Feiad
e Increase in the wind velocity / gaT # dfigar & seiad
 Decrease in the wind velocity/ a1 #r digar & w#

Correct Answer :-Increase in the wind velocity / gaT &Y digdr & sl
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